
cfo ljj/0f  

ljlQo ;dflgs/0f cg'bfg-g]kfn ;/sf/_ M ^,*^,)),)))      

ljlQo ;dflgs/0f cg'bfg-k|b]z ;/sf/_ M $!,#),)))      

;zt{ cg'bfg -g]kfn ;/sf/_M (,&#,)),)))     

;zt{ cg'bfg -k|b]z ;/sf/_M *),)),)))     

ljz]if cg'bfg -k|b]z ;/sf/_ M %@,)),)))     

/fhZj af8kmf8 -g]kfn ;/sf/_ M %,@&,)),)))     

;dk'/s cg'bfg -k|b]z ;/sf/_ M !,%),)),)))     

cfGtl/s cfo M !@,)),)))     

ut jif{sf] df}Hoft M $,#%,@(,(!$     

kf]if0f sfo{qmd M !@,#%,)))     

Jofo ljj/0f  

k'lhFut ah]6 M !),)#,&@,%))     

rfn" ah]6 M #,#$,%&,%))     

;zt{ cg'bfg -g]kfn ;/sf/_M (,&#,)),)))     

;zt{ cg'bfg -k|b]z ;/sf/_M *),)),)))     

;dk'/s cg'bfg -k|b]z ;/sf/_ M !,%),)),)))     

kf]if0f sfo{qmd M !@,#%,)))     

cfly{s If]q 4,840,000   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg  ;zt{ 

1 s[lif ljsf; sfof{qmd ufpFkflnsf 

;dflgs/0f 

k|b]z 1,300,000   

2 kz' ljsf; sfof{qmd ufpFkflnsf /fhZj 550,000   

3 
dlxnf, afnaflnsf tyf h]i7 gful/s ljsf; 

sfo{qmd ufpFkflnsf /fhZj 450,000   

4 
s[lif tyf ;xsf/L Ifdtf ljsf; cled'lvs/0f 

sfo{qmd ufpFkflnsf 

;dflgs/0f 

k|b]z 300,000   

5 cf/0f l;k ;DaGwL tflnd j8f g+= ! /fhZj 100,000   

6 kz' ljsf; sfof{qmd j8f g+= ! ut jif{sf] cNof 115,000   

7 s[lif ljsf; sfof{qmd j8f g+= ! ut jif{sf] cNof 115,000   

8 cNnf] k|zf]wg tflnd j8f g+= ! cfGtl/s 100,000   

9 s[ifs kf7zfnf ;~rfng j8f g+= @ ut jif{sf] cNof 100,000   

10 l;hg cg';f/ ljp lehg ljt/0f j8f g+= @ /fhZj 100,000   

11 kz' k+IfL cf}iflw vl/b j8f g+= @ ut jif{sf] cNof 100,000   

12 afªuf/L gd'gf cf/0f j8f g++ # /fhZj 175,000   

13 jLp ljhg vl/b  j8f g++ # ut jif{sf] cNof 100,000   

14 gZn ;'wf/ jf]o/ af]sf vl/b j8f g++ # ut jif{sf] cNof 100,000   

15 kz' k+IfL cf}iflw vl/b j8f g+= # ut jif{sf] cNof 100,000   



16 cf/0fsf] kª\vf vl/b u}/fufpF j8f g++ # /fhZj 25,000   

17 kmnkm"n a]gf{ vl/b ljt/0f j8f g+= # cfGtl/s 100,000   

18 cf]v/ lj?jf vl/b j8f g+= $ ut jif{sf] cNof 100,000   

19 ltd'/ lj?jf vl/b  j8f g+= $ ut jif{sf] cNof 50,000   

20 cNnf] k|zf]wg tflnd j8f g+= $ cfGtl/s 50,000   

21 s[lif e|d0f j8f g+= $ /fhZj 310,000   

22 ljleGg lj?jf j[Iff /f]k0f j8f g+= % ut jif{sf] cNof 100,000   

23 l;nfO{ s6fO{ tflnd j8f g+= % cfGtl/s 250,000   

24 s[lif l6d"/ lj?jf vl/b j8f g+= % ut jif{sf] cNof 50,000   

hDdf 4,840,000   

;fdflhs ljsf; 30,931,000   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg  ;zt{ 

1 zf}lIfs ljsf; sfof{qmd ufpFkflnsf ut jif{sf] cNof 3,000,000   

2 :jf:Yo sfof{qmd ufpFkflnsf ;dflgs/0f ;+3 2,000,000   

3 nf]kpGd'v df}lns ;Ff:s[lts ;+/If0f sfof{qmd ufpFkflnsf ut jif{sf] cNof 700,000   

4 yafª ufpFkflnsf sk  ufpFkflnsf ut jif{sf] cNof 1,400,000   

5 yafª ufpFkflnsfsf] kfZjlrq lgdf{0f ufpFkflnsf 

;dflgs/0f 

k|b]z 1,600,000   

6 
yafª ufpFkflnsf cfjlws of]hgf lgdf{0f tyf 

;DefJo cWoog ufpFkflnsf ut jif{sf] cNof 2,000,000   

7 cfof]hgfx?sf] l8=lk=cf/= ufpFkflnsf ut jif{sf] cNof 1,300,000   

8 vfg] kfgL tyf ;/;kmfO{ u'?of]hgf lgdf{0f ufpFkflnsf 

;dflgs/0f 

k|b]z 800,000   

9 k|b]z :t/Lo hnhnf ldl8of ;Dd]ng ufpFkflnsf cfGtl/s 350,000   

10 hnhnf vfg]kfgL tyf zf}rfno lgdf{0f ufpFkflnsf ut jif{sf] cNof 1,700,000   

11 hnhnf If]q ;/;kmfO{ sfof{qmd ufpFkflnsf ;dflgs/0f ;+3 150,000   

12 hnhnf ko{6g ljsf; tyf ;DefJo cWoog ufpFkflnsf ut jif{sf] cNof 1,200,000   

13 km"lnjg lz/Sofª a];Lvf]nf df]6/af6f] ;/;kmfO{ ufpFkflnsf ut jif{sf] cNof 1,250,000   

14 jg jftfj/0f tyf s[lif u'?of]hgf ufpFkflnsf ut jif{sf] cNof 500,000   

15 yafª df3]vs{ 3fqfªvf]nf df]6/af6f] ;/;kmfO{ ufpFkflnsf ut jif{sf] cNof 600,000   

16 zf}rfno lgdf{0f s[lif pkh ;+sng s]Gb| v]/afª j8f g+= ! /fhZj 470,000   

17 zf}rfno lgdf{0f gjo'u o'jf Sna j8f g+= ! ut jif{sf] cNof 250,000   

18 /\ofkfª\sf tyf af=lj=s]= vfg]kfgL dd{t  j8f g+= ! ut jif{sf] cNof 100,000   

19 h'DnLr'nf km'lG6afª vfg]kfgL dd{t j8f g+= ! /fhZj 200,000   

20 
zf/bf cf=lj= sDKo'6/ k|LG6/ kmf]6f]skL d]lzg 

vl/b j8f g+= ! /fhZj 100,000   

21 e'd] kj{ Joj:yfkg tyf d]nf ;dfkg j8f g+= ! ut jif{sf] cNof 75,000   

22 j8f sfof{no tf/af/ j8f g+= ! ut jif{sf] cNof 200,000   



23 v]ns'b k|j4{g sfof{qmd j8f g+= ! cfGtl/s 150,000   

24 dlxnf lzk ljsf; j8f g+= ! ut jif{sf] cNof 150,000   

25 ckfª\u ljsf; sfof{qmd j8f g+= ! /fhZj 75,000   

26 k"j{ ;/;kmfO{ ;DaGwL ;r]tgf sfof{qmd j8f g+= ! ut jif{sf] cNof 100,000   

27 df}lns ;+:s[lt ;+/If0f sfof{qmd j8f g+= ! ut jif{sf] cNof 100,000   

28 ;fd'bflos :jf:Yo OsfO{ s]Gb| kmlg{r/ j8f g+= ! 

;dflgs/0f 

k|b]z 100,000   

29 kf]if0f sfof{qmd j8f g+= ! /fhZj 200,000   

30 h:tfkftf ljt/0f j8f g+= ! ;dflgs/0f ;+3 1,000,000   

31 5]nf]{afª :jf:Yo OsfO{ s]Gb| j8f g+= @ /fhZj 600,000   

32 afnljsf; ejg dd{t yafª 7'nf]ufpF j8f g+= @ ut jif{sf] cNof 200,000   

33 sflnsf g]q Hof]lt ljBfno kmlg{r/ tyf dd{t  j8f g+= @ ut jif{sf] cNof 323,000   

34 
>L lbk Hof]lt ljBfno zf}lIfs ;fdu|L vl/b tyf 

lgdf{0f j8f g+= @ cfGtl/s 200,000   

35 l6Knf vfg]kfgL dd{t j8f g+= @ ut jif{sf] cNof 178,000   

36 ;+:s[lt ;+/If0f  j8f g+= @ /fhZj 50,000   

37 afn Sna u7g / cled'lvs/0f  j8f g+= @ /fhZj 50,000   

38 j8f sfof{no tf/af/ j8f g+= @ ut jif{sf] cNof 200,000   

39 h:tfkftf ljt/0f j8f g+= @ ;dflgs/0f ;+3 1,000,000   

40 k"j{ ;/;kmfO{ ;DaGwL sfof{qmd j8f g++= # /fhZj 800,000   

41 e'd] lkmN8 d]lzg/L afn lgdf{0f j8f g++= # ut jif{sf] cNof 300,000   

42 cWoIf sk v]ns'b sfof{qmd j8f g++= # ut jif{sf] cNof 300,000   

43 :jf:Yo rf}sL kmlg{r/ j8f g+= # /fhZj 200,000   

44 ue{jtL dlxnfsf] kf]if0f ;DaGwL tflnd j8f g++= # /fhZj 90,000   

45 ;f=:jf=O s]Gb| lelqjg ;fdu|L vl/b j8f g++= # /fhZj 50,000   

46 ;f=:jf=O s]Gb| 7'nf]ufpF ;fdu|L vl/b j8f g+= # /fhZj 50,000   

47 h:tfkftf ljt/0f j8f g+= # ;dflgs/0f ;+3 1,000,000   

48 
;fd'bflos hGt/] afnljsf; s]Gb| afn ;fdu|L 

vl/b j8f g+= $ ut jif{sf] cNof 25,000   

49 hnfsL afnljsf; s]Gb| afn ;fdu|L vl/b j8f g+= $ /fhZj 25,000   

50 /fs] ltxf/ ;+/If0f sfo{qmd j8f g+= $ /fhZj 50,000   

51 e]6g/L ;fdu|L vl/b j8f g+= $ ut jif{sf] cNof 50,000   

52 ;fd'bflos :jf:Yo ;fdu|L vl/b j8f g+= $ /fhZj 50,000   

53 blnt ljkGg afn aflnsf sfkL snd vl/b j8f g+= $ ut jif{sf] cNof 25,000   

54 ljkGg kl/jf/ 6\jfOn]6 l;t ;l/of l;d]G6 ljt/0f j8f g+= $ ut jif{sf] cNof 50,000   

55 afn r]tgf k|jfx cltl/Qm s[ofsnfk ljBfnodf j8f g+= $ ut jif{sf] cNof 25,000   



56 >L dx]Gb| k|f=lj= yk"{ sDKo'6/ ;f]nf/ vl/b j8f g+= $ ut jif{sf] cNof 300,000   

57 >L hg Hof]lt k|f=lj= h'Q/ dd{t j8f g+= $ ut jif{sf] cNof 150,000   

58 ax'If]qLo kf]if0f sfo{qmd j8f g+= $ ut jif{sf] cNof 90,000   

59 
;fd'bflos afn ljsf; s]Gb|x?df afn v]ns'b 

;fdu|L vl/b j8f g+= $ ut jif{sf] cNof 100,000   

60 
yk{" 3f]/fafª  j8f sfof{no;Ddsf] df]6/af6f] 

;/;kmfO{ j8f g+= $ ut jif{sf] cNof 250,000   

61 h:tfkftf ljt/0f j8f g+= $ ;dflgs/0f ;+3 1,000,000   

62 blnt ;zlQms/0f sfo{qmd j8f g+= % ut jif{sf] cNof 50,000   

63 ;'Ts]/L cfdfx?nfO{ kf]if0f ;DaGwL sfo{qmd j8f g+= % ut jif{sf] cNof 100,000   

64 /fs] ltxf/ ;+/If0f sfo{qmd j8f g+= % /fhZj 150,000   

65 ;xsf/L ;+:yf sfof{no kmlg{r/ vl/b, 7'nf]ufpF j8f g+= % 

;dflgs/0f 

k|b]z 30,000   

66 h:tfkftf ljt/0f j8f g+= % ;dflgs/0f ;+3 1,000,000   

hDdf 30,931,000   

k"jf{wf/ ljsf; 65,040,000   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg  ;zt{ 

1 sDKo'6/ tyf kmlg{r/ vl/b ufpFkflnsf /fhZj 1,800,000   

2 
yafª ufpFkflnsf hnhnf c:ktfn tyf 

cg';Gwfg s]Gb| lkmN8, ejg tyf jfn lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 2,500,000   

3 
yafª ufpFkflnsf k|zf;lgs ejg tyf lkmN8, 

jfn / df]6/af6f] lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 6,800,000   

4 yafª ufpFkflnsf;Ddsf] df]6/af6f] ufpFkflnsf ;dflgs/0f ;+3 1,500,000   

5 ICT tflnd tyf ;fdu|L ufpFkflnsf ut jif{sf] cNof 800,000   

6 uf8L vl/b ufpFkflnsf ut jif{sf] cNof 5,800,000   

7 
pjf :jf:Yo rf}sL sf]6njf/f af6f], lkmN8, jfn 

lgdf{0f ufpFkflnsf ut jif{sf] cNof 800,000   

8 emf]n'ª\u] k"n l8=lk=cf/= ufpFkflnsf ut jif{sf] cNof 1,800,000   

9 
ld?n 6'6' vf]nf / dnflul/ vf]nf kSsL k"n 

l8=lk=cf/= ufpFkflnsf ut jif{sf] cNof 2,000,000   

10 ;8s u"?of]hgf ufpFkflnsf ut jif{sf] cNof 800,000   

11 ufpFkflnsf k|zf;lgs ejg l8=lk=cf/= ufpFkflnsf ut jif{sf] cNof 300,000   

12 
>L efg'eQm df=lj= lkmN8 tyf ejg lgdf{0f 

l8=lk=cf/ ufpFkflnsf ut jif{sf] cNof 200,000   

13 yafª o'4 :df/s tyf ;+u|fxno l8=lk=cf/ ufpFkflnsf ut jif{sf] cNof 300,000   



14 
yafª o'4 :df/s tyf ;+u|fxno jfn tyf kvf{n 

lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 1,500,000   

15 
;fd'bflos :jf:Yo OsfO{ s]Gb| 3f]/fafª jfn 

lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

16 
;fd'bflos :jf:Yo OsfO{ s]]Gb| 7"nf]ufpF ld?n 

lkmN8 ;kmfO{, kvf{n, vfg]kfgL / zf}rfno lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

17 
;fd'bflos :jf:Yo OsfO{ s]]Gb| lelqjg lkmN8 

;kmfO{, kvf{n, vfg]kfgL / zf}rfno lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

18 
;fd'bflos :jf:Yo OsfO{ s]]Gb| 5]nf]{afª lkmN8 

;kmfO{, kvf{n, vfg]kfgL / zf}rfno lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

19 
;fd'bflos :jf:Yo OsfO{ s]]Gb| v]/afª lkmN8 

;kmfO{, kvf{n, vfg]kfgL / zf}rfno lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

20 
;fd'bflos :jf:Yo OsfO{ s]]Gb| yk"{ lkmN8 ;kmfO{, 

kvf{n, vfg]kfgL / zf}rfno lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 500,000   

21 >L efg'eQm df=lj= ejg lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 3,500,000 7700000-;+3_ 

22 hnhnf wd{zfnf, ejg dd{t / k]lG6ª ufpFkflnsf /fhZj 500,000   

23 ems]afª emf]=k' b]lv d/fGyfgf l;l8 lgdf{0f ufpFkflnsf ;dflgs/0f ;+3 1,500,000   

24 ;fGbfkfgL vfg]kfgL cfof]hgf pjf $ / % ufpFkflnsf ;dflgs/0f ;+3 500,000 
2500000 -
k|b]z_ 

25 ljjfª nfs'jfª df]6/af6f] lgdf{0f j8f g+= ! ;dflgs/0f ;+3 800,000   

26 lrltafª vsf{afª df]6/af6f] lgdf{0f j8f g+= ! ;dflgs/0f ;+3 550,000   

27 bfª\hf df]6/af6f] lgdf{0f j8f g+= ! ;dflgs/0f ;+3 1,000,000   

28 pO/L ljB't dd{t j8f g+= ! /fhZj 100,000   

29 df3]vs{ ljB't dd{t j8f g+= ! /fhZj 100,000   

30 km'lG6afª ljB't dd{t j8f g+= ! ut jif{sf] cNof 100,000   

31 s08] df]6/af6f] j8f g+= @ ;dflgs/0f ;+3 1,000,000   

32 ltKnf lbs|fafª 8"ln8fF8f df]6/af6f] j8f g+= @ ;dflgs/0f ;+3 2,300,000   

33  @ g+= j8f cGt{utsf] af6f] dd{t j8f g+= @ ;dflgs/0f ;+3 700,000   

34 km"ln uf]/]6f] af6f] j8f g+= @ /fhZj 112,000   

35 
dlxnf ejg zf}rfno lgdf{0f tyf kn:6/ 

d/fGyfgf j8f g+= @ ut jif{sf] cNof 320,000   

36 sf]Ohfafª unRof]n 3f]]/]6f] af6f] j8f g+= @ /fhZj 178,000   

37 l8=lk=cf/= j8f g+= @ ut jif{sf] cNof 500,000   

38 6'6' v]nd}bfg tyf jfn lgdf{0f j8f g+= # ut jif{sf] cNof 3,000,000   

39 6'6' k|hf lelqjg df]6/af6f] lgdf{0f j8f g+= # ;dflgs/0f ;+3 1,800,000   

40 ld?n l;j/L df]6/af6f] lgdf{0f j8f g+= # ;dflgs/0f ;+3 1,800,000   



41 zlxb :d[lt kfs{ lgdf{0f j8f g+= # /fhZj 1,000,000   

42 j8f leq af6f] dd{t j8f g++ # ;dflgs/0f ;+3 500,000   

43 7"nf]ufpF ;}k' df]6/af6f] lgdf{0f j8f g+= # ;dflgs/0f ;+3 800,000   

44 P=lj=8L= o'jf Sna lkmN8 / jfn lgdf{0f j8f g+= # ut jif{sf] cNof 260,000   

45 
>L g]kfn /fli6«o cfwf/e't ljBfno 3f]/fafª 

ejg lgdf{0f j8f g+= $ ;dflgs/0f ;+3 4,000,000   

46 h'uLwf/f vfg]kfgL dd{t j8f g+= $ /fhZj 100,000   

47 gj ;xf/f o'jf Sna tf/jf/ j8f g+= $ ut jif{sf] cNof 150,000   

48 emfs[ vf]nf vfg]kfgL dd{t / kfO{k vl/b j8f g+= $ /fhZj 250,000   

49 ;f=:jf= OsfO{ s]Gb| yk'{ 6\jfOn]6 lgdf{0f j8f g+= $ /fhZj 200,000   

50 ufpF3/ lSnlgs 6\jfOn]6 / vfg]kfgL lgdf{0f h'Q/ j8f g+= $ ut jif{sf] cNof 400,000   

51 8fF8fw]/f emfs[ w]/f vfg]kfgL dd{t j8f g+= $ /fhZj 150,000   

52 dnflul/ 3f]/fafª t]nvf]nf uf]/]6f] af6f] ;f]lnª j8f g+= $ ut jif{sf] cNof 550,000   

53 hnfsL afnljsf; s]Gb| Uofljª hfnL j8f g+= $ /fhZj 250,000   

54 3f]/fafª ;]8fafª ;f]lnª j8f g+= $ /fhZj 100,000   

55 nf]safª vfg]kfgL dd{t j8f g+= $ ut jif{sf] cNof 100,000   

56 h'Q/ a'af{ª 3f]/]6f] af6f] ;f]lnª j8f g+= $ ut jif{sf] cNof 300,000   

57 pjf bfª;3f eª/ª df]6/af6f] lgdf{0f j8f g+= % ;dflgs/0f ;+3 3,600,000   

58 
k':jfª ;fd'bflos ejg dd{t Pjd zfvf 6«ofs 

cf]kg j8f g+= % ut jif{sf] cNof 600,000   

59 5fgjfª uf]/]6f] af6f] lgdf{0f j8f g+= % ut jif{sf] cNof 500,000   

60 ;'jf{ª df]6/af6f] lgdf{0f dd{t  j8f g+= % ut jif{sf] cNof 250,000   

61 /f]sfef/f ;fd'bflos ejg dd{t hfnL vl/b  j8f g+= % /fhZj 200,000   

62 efg'eQm df=lj= ejg dd{t tyf lkmN8 lgdf{0f j8f g+= % /fhZj 200,000 
1000000 -
k|b]z_ 

63 ;'jf{ª afnljsf; ejg dd{t j8f g+= % /fhZj 70,000   

64 yk"{ ;fd'bflos :jf= O{sfO{ s]Gb| ejg dd{t j8f g+= % /fhZj 150,000   

65 j8f sfof{nosf nflu h:tfkftf vl/b j8f g+= % ;dflgs/0f ;+3 100,000   

hDdf 65,040,000   

jg jftfj/0f tyf ljkb Joj:yfkg  3,750,000   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg ;zt{ 

1 ljkb Joj:yf sf]if ufpFkflnsf /fhZj 1,000,000   

2 h'jf{ª v]nd}bfg Uofljª j8f g+= ! ut jif{sf] cNof 200,000   

3 uf]jfª vf]nf Uofljª j8f g+= ! ut jif{sf] cNof 250,000   

4 ljjfª df]6/af6f] Uofljª j8f g+= ! /fhZj 200,000   

5 kmf]xf]/ d}nf Joj:yfkg yafª 7"nf]ufpF j8f g+= @ ut jif{sf] cNof 200,000   



6 6'6' ahf/ 9n lgsf;  j8f g+= # ut jif{sf] cNof 500,000   

7 ld?n 7"nf]ufpF 9n lgsf;  j8f g+= # ut jif{sf] cNof 400,000   

8 kmf]xf]/ d}nf Joj:yfkg j8f g+= # /fhZj 100,000   

9 ljkb hf]lvd Go'lgs/0f sfo{qmd j8f g+= # /fhZj 100,000   

10 pjf 7"nf]ufpF 9n lgsf; j8f g+= % ut jif{sf] cNof 400,000   

11 HofjL{ tfn ;+/If0f l;d]G6 vl/b  j8f g+= % /fhZj 200,000   

12 pjf jly{ª ;]G6/ Uofljª lgdf{0f j8f g+= % /fhZj 100,000   

13 ;'jf{ª af6f] ;f]lnª lgdf{0f ;fdfg vl/b j8f g+= % ut jif{sf] cNof 50,000   

14 hg;]js k|f=lj= lkmN9 dd{t j8f g+= % ut jif{sf] cNof 50,000   

hDdf 3,750,000   

;+:yfut ljsf; tyf ;'zf;g ;]jf 3,178,725   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg  ;zt{ 

1 ;"/Iff Joj:yf ufpFkflnsf /fhZj 100,000   

2 cfly{s ;xfotf sf]if ufpFkflnsf  /fhZj 1,000,000   

3 sd{rf/L sNof0f sf/L sf]if ufpFkflnsf /fhZj 700,000   

4 Goflos ;ldltsf] sfo{qmd ufpFkflnsf ut jif{sf] cNof 300,000   

5 hgk|ltlglw / sd{rf/Lsf] Ifdtf ljsf; sfo{qmd ufpFkflnsf ut jif{sf] cNof 500,000   

6 OG6/g]6 h8fg ufpFkflnsf ut jif{sf] cNof 239,725   

7 pkef]Qmf ;ldltnfO{ cled'lvs/0f j8f g+= @ ut jif{sf] cNof 89,000   

8 :yflgo tYofª\s ;+sng tyf Joj:yfkg j8f g+= @ /fhZj 100,000   

9 /f0ffufpF k|x/L rf}sL sfof{no Joj:yfkg j8f g+= # ut jif{sf] cNof 50,000   

10 6fj/ lgdf{0fsf] nflu e}k/L cfpg] 9'jfgL vr{ j8f g+= # /fhZj 100,000   

hDdf 3,178,725   

;dk"/s 22,162,689   

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg vr{ lzif{s ljlgof]hg  ;zt{-k|b]z_ 

1 yafª 7"nf]ufpF vfg]kfgL of]hgf ufpFkflnsf ;dflgs/0f 3,000,000 3,000,000 

2 t]nvf]nf eª/ª u|fld0f ;8s lgdf{0f ufpFkflnsf ;dflgs/0f 9,000,000   

4 a}slNks ;f}o{ phf{ pTkfbg s]Gb|  ufpFkflnsf /fhZj 8,100,000   

5 ;dk"/s ufpFkflnsf ut jif{sf] cNof 2,062,689   

hDdf 22,162,689   

d'Vo dGqL u|fld0f ljsf; sfo{qmd  5,200,000  
 

 

 

 



 

hnafo' kl/jt{g ;xof]u sfo{qmd -NCCSP_ cGt{ut hnjfo' ;dfg's'ng ljsf; of]hgf sfo{qmd 12,000,000  

qm=;+= sfo{qmd cfof]hgfsf] gfd sfo{qmd x'g] :yfg ufpFkflnsfaf6 vr{ lzif{s NCCSP cGo hDdf 

1 ofafª rfafª tfln3f vfg]kfgL of]hgf j8f g+= ! 1,000,000 
;dflgs/0f 

;+3 2,000,000   3,000,000 

2 bxafª l;rfO{ of]hgf j8f g+= @ 1,200,000 
;dflgs/0f 

;+3 2,000,000   3,200,000 

3 7"nf]ufpF sfkmn8fF8f vfg]kfgL of]hgf j8f g+= # 2,000,000 
;dflgs/0f 

;+3 1,500,000 1,500,000 5,000,000 

4 ;fgf]tfuf vfg]kfgL of]hgf j8f g+= #     1,500,000   1,500,000 

5 dnflul/ 3f]/fafª vfg]kfgL of]hgf j8f g++= $ 1,500,000 
;dflgs/0f 

;+3 2,000,000   3,500,000 

3 >L efg'eQm df=lj= kSsL kvf{n lgdf{0f lj:tf/ of]hgf j8f g+= % 800,000 
;dflgs/0f 

;+3 1,000,000   1,800,000 

4 gf/]w'/L dl;gf vfg]kfgL of]hgf j8f g+= % 300,000 
;dflgs/0f 

;+3 1,000,000   1,300,000 

5 hf]ª vf]n'ª a];L vfg]kfgL of]hgf j8f g+= %     1,000,000   1,000,000 

    6,800,000   12,000,000 1,500,000 20,300,000 


